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Makes seeds to
Continue the life cycle.
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(" Absorbs sunlight & )

Carbon dioxide to make
food for the plant.
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(" - Supports the leaves
- (arries food & water
through the plant.
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(" nchor and support A

the plant in the soil.
- Store food.

\_

S Absorb water from soilj




Photosynthesis

\/_\ light energy
< \ / from the Sun
Sunlight to make glucose (sugars)
@ and oxygen (02)

Oxygen is

Carbon ~_sreleased

dioxide ~

| Glucose
is formed
@ Chlorophyll |
\
carbon dioxide (C02) L
from the air = ////' \\\\\

«/::};4};7/ /] \ \-::l:‘-;:::-_::_'_ t \
7 /1N
P4 //

Bk
/N \\
71’\, \ taking in water (HZO)
| through the roots

4 Plants use sunlight, water, and the gases in the )
Photosynthesis air to make qlucose, which is a form of sugar
that plants need to survive.

Ty
L wr

Plants need 3 things: ol
\_ carbon dioxide, water, and sunliqht. v
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Fruit
Stem

Flower

Seed
Water

Roots
Soil




_—
-

Complete
8 Coller

Roots - Stem - Flower -
Fruit - Leaf - Nutrients
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What do plants need?

VS Make aﬂxt to things a plant needs.
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Sort the pictures into the following groups.

g Koo Leaves Seeds A

" Flower Stewm )




o We eot F lants |

Sort the pictures into the following groups.

4 REE) Leaves Seeds

(" Flower Stem )




Cut out pictures:
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@M Photosynthesis

Yrocess

LYGHY
ENERGY

Complete the following with the correct words.

1) is the process by which plants make their

own food.

2) The photosynthesis process takes place in the of
plants.

3) To make food, plants need , and

4) is used to provide energy for the growth and
development of plants.

[ Co2 - leaves - Photosynthesis -water - glucose - sunlight ]
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Can \Jou comple’re
the diagram of the
pho’roe\/n’rheéié Process?




Let's try to put the Photosynthesis process

in the correct order.
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(Cut out paper:

| The enerqy obtained from light is used to
I convert water into hydrogen and oxygen.

| traps the energy in the sunlight that falls on the

I surface of the leaves.

\

| —————
L
I Carbon dioxide in the atmosphere enter the

| eaves of the plant through leaves.

‘\ ___________________________
((TTTTTTT T o N
I Water is absorbed by the roots from :
| the soil and transported to the leaves. |
I

\ I




1
|

d







Seedling
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| Germination |

TOMATO LIFE CYCLE



APPLE TREE
LIFE CYCLE

| Pollination |
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| Blossoms !
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